Relationship brightnessB*,; and luminanceLy as function
of tristimulus value Y7 for the adaptation luminancel ;= 1000cd/m?
BY 7 (LT, L1, §) = Sra(®)LT ~ dyra(d) brightnessB% 1 [1]
Br(Lr, §) = Cr(§)[So(®) + Sud)Lr]  (n=0,31,B%,=B 1 /B 1 ,) [2]
Sra()=Cr ($)B%a [3] tyra($)=Br(Ly, $)B%, [4] (s=scaling factor)
Yoo ¢ Cr(¢) AY  BYBY Br(Lr9) Byr  Syra(9) dyra(d)
42,53 120" 22,969 0,513 2,99P 49,51 218,98 1191 2
26,54 120’ 22,969 0,370 2,50 50,82 182,48 11,91 2
15,28 120’ 22,969 0,253 2,00D 52,89 14598 1191 2
7,84 120" 22,969 0,160 1,49 57,37 109,49 11,91 2
3,38 120' 22,969 0,089 1,00U 75,92 72,99 11,91 24
1,08 120" 22,969 0,041 0,50 90,28 36,49 11,91 23
11,91 120" 22,969 0,194 0,00N 112,66 0,00 11,91 23

3,38 120’ 22,969 0,089 1,00U 7592 72,99 11,91 23
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